e

F

S

European Furniture Group

EFG IZI Pro

Assembly Instruction 039167

For more information,
please visit www.efg.info

170308 / Produced by: EFG Marketing Support



Step 1 - Assembly beams and legs.

Recommended beam length for following table top length (2-column):
1600 = Beam length 1314 mm (Top extension on table according to page 5)
1800 = Beam length 1514 mm (Top extension on table according to page 5)

- M8x25 (x7)
' (8pcs for single stand)

& x22 (optional)
v (12pcs for single stand)

Wiggle the leg when
mounting the crossbars.
It makes it easier to
mount the screws.

M8x25

Leave one of these screws
unmounted in the crossbar
for connection third column.

For 3-Columns go to page 3.

Step 2 - Assembly Feet and Side Bars.

M8x16 (x4) - Side Bars.

f M8x16 (x6) - Feet (4pcs for single stand)
\__,/

@16 (x36) - Covers For Screw/Sidebars (Black/Gray/White)

Setscrew at this side

EFG IZI Pro - 2



Step 3 - Assembly 3-column 90°. OBSERVE

Use M8x35 to mount the

connection in crossbar.
E K M8x35 (x1) - Use for connection 3-Legs 90°

f M8x16 (x6) - Feet & crossbar corner

- ¢ | OBSERVE
M8x25 (x6) - Cross bar and ,.; M8x16 (x2)
' connection 90° > | Round socket

-

L

M8x16 (x2) - Side bars

' Cover for screw M8 (x16) - Side bars /
M8x16 Countersunk

Step 4 - Mount frame to table top - 2-column.

Recommended beam length for following table top length (2-column):
1600 = Beam length 1314 mm (Top extension on table according to page 5)
1800 = Beam length 1514 mm (Top extension on table according to page 5)

@5,0x60 (x8) - Screw Beams
(4pcs Single stand)

T B4 ,5x20 (x8) - Screw Sidebars

Loosen setscrews in crossbars and

adjust stand width symmetric to wished position. EFG IZI Pro- 3



Step 5 - Mount frame to table top - 3-column.

Loosen setscrews in crossbars and adjust stand width symmetric to wished position.

3¢

@5,0x60 (x8) - Screw beams

t B4,5x20 (x8) - Screw Sidebars

Step 6 - Cable fastening.

Structure excess cabling under the table top, use a cableclip to fasten powersupply.

2-COLUMN 3-COLUMN
t @3,5x16 (x2) - Handset t @3,5x16 (x2) - Handset
¥
[®],—T :
]
D‘ : [ B

|

N A

EFG IZI Pro - 4



Step 7 - Observe.

Observe: Make sure every screw is tightened
before use. Be careful not to tighten them too
hard, this will damage the chipboard and the

legs will not be fastened in a proper way.

Turn the table around to standing position and

plug the cable.

Ready to use!

INFO - Accessories (Gables) + Reset.

ACCESSORIES (GABLES):

Below you can see recommended distance to
table top edge on gables for enabling other
acessories to be added.

120 mm

(>

J
LT

B

L

o

SUITED ACESSORIES:

- TAB Screens (Ex: A29F01)

- ADD Stack (Ex: ADDSTACKK)

- Butler (Ex: ADDBUTLK)

- ScreenlT Standard (Ex: A30B81)

RESET:

Below you will find the guide for reseting the

desk if necessary.

Manual reset

>7 sec

1-Press both battons

2-Drive the cblumns
down to lowest level
3-Ready for use

EFG IZI Pro -5



e

F

S

European Furniture Group

The product contains one or more of following materials:
Metal, plastic, wood, fabric, foam.

Forsdkran om overensstammelse for maskiner/ Declaration of conformity

SE - EFG IZI Pro déverensstammer med Maskindirektivet AFS 2008:3 och AFS 2009:5,
European directive 2006/42/EG, EMC-direktiv 2004/108/EG och LVD 2014/35/EU.

UK - EFG IZl Pro complies with the European directive 2006/42/EG, EMC-directive
2004/108/EG and LVD 2014/35/EU.

DK - EFG IZI Pro er i overensstemmelse med European directive 2006/42/EG,
EMC-directive 2004/108/EG og LVD 2014/35/EU.

For more information,
please visit www.efg.info 170308/ Produced by: EFG Marketing Support



